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QUESTION 1

Which of the following statements about VPWS service on a Nokia 7750 SR is FALSE?
A. VPWS is a simple point-to-point service.

B. VPWS emulates a Layer 2 connection between two customers.

C. VPWS does not perform MAC learning.

D. VPWS encapsulates Layer 2 frames into IP datagrams.

Correct Answer: D

QUESTION 2

What are the tasks of the Routing Table Manager (RTM)? Choose two
A. RTM selects the best route from among multiple routing protocols.
B. RTM selects the best route using the metric as criteria

C. RTM sends its best route to all its directly connected neighbors.

D. RTM installs its best route in the routing table.

Correct Answer: AD

QUESTION 3

Which of the following information can be seen within the FILE context of the SR 7x50? (Choose 2)
A. File sizes

B. Port statistics

C. Log-id 100 files

D. TIMOS image files

Correct Answer: AD

QUESTION 4
Which of the following is a characteristic of the IP layer?
A. Provides a connectionless data transmission service.

B. Provides physical interconnection of network devices.
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C. Provides reliable transfers of data.
D. Provides services equivalent to the OSI data link layer.

Correct Answer: A

QUESTION 5

Which network was created to replace ARPANET?
A. INWG

B. ALOHANET

C.IETF

D. NSFNET

Correct Answer: D
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